EXERCISES [MAI 2.18]
VORONOI DIAGRAM
SOLUTIONS
Compiled by: Christos Nikolaidis

A. Paper 1 questions (SHORT)
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Midpoint of [AC]: M(5,3)

Perpendicular bisector: y—3 = % x=35)=>y= %x —%
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Midpoint of [AB]: M(3,3)

Perpendicular bisector: y—3 =—%(x—3) =2y-6=—(x-3)=x+2y-9=0

(5,2)
y=x+c=>2=5+c=>c=-3
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Midpoint of [AC]: M(5,4)
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Perpendicular bisector: y—4 = % x=-5=y= %x +%

Line Equation
Ls y=0.5x+1.5
L, y=—02x+4.2
Ls y=-x+5
L: y=-3x+15
L4 Ty=4
Ls x=5
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y=—x+2,y=x-2,y=—x-2, y=x+2

Area=38




B. Paper 2 questions (LONG)
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Midpoint of [CD]: M(4,2)

Perpendicular bisector: y—2=2(x—-4) =>2x—y=6
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(i) A right-angled triangle with sides 3,4,5 shows that sin & =%

Sy . . 3
(OR for HL, using the Pythagorean identity cos” @ +sin” @ =1 we obtain sin @ = 3 )
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(i) y=2, y=-2x+13
(b) X(3,2),Y(5.5,2)

©  dy=y(8-1)+(2-17 =50 =5V2

(d) AABCD:AABC+ADBC:%X4X3+%X4X4:14.



